BALANCING CHEMICAL EQUATIONS

Balance the following chemical equations

) Al+____O,>___ ALQ,

2CH,+_ O,»_ CO,+___  HQO

3) AI(NO,),+ __ NaOH > AI(OH), + __ NaNO,
4 KNO,»___ KNO,+_ O,

55 0,+CS,>»CO,+_ SO,

6 KCO,»__ KC+___ 0O,

7 BaF,+___ KJPO,»>Ba,(PO,),+  KF
8§  HSO,+__ MgNO,),>MgSO,+__ HNO,
9 __  Al+__ HSO,» ALSO,),+__ H,
VWO, +_  H,-W+_  HO

1) Sb+__ ClL,>___ Sbdl,

) Mg+O,»>__ MgO

13) CaCl, » Ca + c;

14) NaClO3 -> NaCl + O

15) Fe + HCI - FeCl, + H,



BALANCING CHEMICAL EQUATIONS

Answers

) 4 Al+_3 O,»_2 ALO,

2

2CH,+_5 O,>_3 CO,+_4 HO

2 _ 2 _— 2

3) AIINO,), + 3 NaOH > AI(OH), + 3 NaNO,

4 2 KNO,»_2 KNO,+_3 O

2

55 3 0,+CS,>CO,+_ 2 SO

2

)2 KCO,»_2 KOA+_3 O

PN W _ _— 2

7 3 BaF,+_ 2 KpPO,>Ba,(PO),+ 6 KF

8 1 HSO,+_3 Mg(NO,),>MgSO,+_2 HNO,

9 2 Al+_3 HSO,>ALGO),+_ 3 H

— PR _— 2

0WO,+_3 H,W+_3 HO

S — _— 2

1) 2 Sb+_3 ClL~_2 SbCl

) 2 Mg+O,>_2 MgO

13) CaCl, » Ca + c;

14) 2 NaClO3—> 2 NaCl+ 3 O

2

15 Fe+ 2 HCl - FeCl, + H,
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